a+ l‘|"+;|l||
at—b?

Ifa=11and b =9, then the value of |

is -

(A) 1 (B) 20
2
Gy (D) 2
20
2. |f two angles of a triangle are cot12 and cot™'3,
then its third angle is -
(A) 5m (B) ¢
6 4
(C) 3n on
4 2
- In a AABC, if 2ZA = 3/B = 6£C, then ZA is
equal to -
(A) 60° (B) 120°-
(C) 90° (D) 3¢°
4.

If the simple interest on a certain sum of money
after 6% years is 3/8 of the principal, then the
rate of interest per annum is -

(A) 4% (B) 6%

(C) 5% (D) 8%

5. To gain 25% after allowing a discount of 10%,
the shopkeeper must mark the price of the
article which costs him ¥ 360 as -

(A) T 450 (B) T 486
(C) T 500 (D) T 460
6. Average of the 1% ten odd prime numbers, is -
(A) 15.8 (B) 12.9
(C) 13.8 (D) 17

7. ‘A’ can do a piece of work in 24 days. If ‘B’ is
60% more efficient than ‘A’, then the number
of days required by ‘8’ to do the same piece of

work is -
(A) 10 (B) 12
(C) 15 (D) 9.6

8. Mohan is twice as old as his brother. 3 years
ago, Mohan's age was 3 times his brothers age.
Calculate Mohan's present age.

(A) 16 (B) 14
(C) 12 (D) 6

130-B -

d uf a-11a3lR b=9 2 d l”,‘—'\ Bl HI
P
[IoN (B) 20
2
(€) L (D) 2
20
2. ufe g Brgst @ @1 BIU cot'2 1 cot '3 2 7
T gae! SRR B2
(A) 5n (B) I
& 4
(C) 3w oy
% 4 2 o
¥ ub AnBC H, Afd 2/A=3/B=6/C L @ za
XA ® —
(A) 60° (B) 120°
(C) 9p° (D) 30°

J afe g fifkad 1 W 65 a¥ § WERT @
U HHT BT 3/8 W B, I diiSS @A 5

WE - ;
(A) 4% (B) 6% ﬁ
(©) 5% (D) 8%

3/ 10% & B A B 9I& 25% DI AN WG B
& forg, gEFER BT 360 AT drell a%g B

oy foear sifda @xa1 @ifey?
(A) 450% (B) 486%
(©rs00% (D) 460%
6. vy T fAwH IrToY G BT SN § -
(A) 15.8 (B 12,9
(C) 13.8 (D) 17

/A @ b Bl 24 A # IR wwar 2 a8
A 60% 3@ FIA B, A B BT TAH B
T @ forg saeas A o wewn @ -

(A) 10 (B) 12
(C) 15 AP) 9.6

B Higq e Wig W QT ger 2 3 ay uEd
Higd @ AR Sud WAl B g B 3 A
M| AEd B g A B A D
(A) 16 (B) 14
©) 12 (D) 6
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9. A and B started a business jointly. A’s
investment was thrice the investment of B and
the period of his investment was two times the
period of investment of B. If B received ¥ 4000
as profit, then their total profit is -

(A) ¥ 20,000 (B) ¥ 28,000
(C) T 24,000 (D) ¥ 16,000
10. Two numbers ‘A’ and ‘B’ are such that the sum

of 5% of A and 10% of B is half of the sum of
20% of A and 10% of B. Find A:B.

(A) 2:1 (B) 1:3
(C) 11 (D) 1:2
1. In the given figure, ABCD is a cyclic

quadrilateral whose side AB is a diameter of
the circle through A, B, Cand D. If ZADC ="130°,
then find ZCAB.

-
130° ¢ ; 'E
D
B
= 0
(A) 30° (B) s0°
(C) 40° (P) 130°

12. The number nearest to 43582 divisible by each

9. A 3R B T HYH &Y Y U argy Yo [HAT
/Azﬁlﬁﬁw'aaﬁﬁr&wao—réﬁ?ﬂmaﬁvm
faer ) arafy 8 @ fde @1 a@® & TN
off | af¥ B8 P o & w9 # 40002 9T 8T, <1
JAPT BA T & —
(A) 20,0002 (B) 28,0002
(C) 24,0003 (D) 16,000
10. <y wew A 3R B § fb A @ 5% 3R B
K@ 10% P AT A B 20% IR B B 10% & ATT
U 1 amm 21 AB ST AR
(B) 1:3
(D) 1:2

(A) 2:1
" (©) 11

V& g sngpfa ABCD U wh1d dgqsl &
fTas) 41T AB, A, B, C 3R D ¥ BIY S died
g @1 @ ¥ AR £ADC=130° 2, I ZLCAB
SId DIy —

130° ¢
D /
AF B
(A) 30° B s50°
- (C) 40° (D) 130°

ﬁ/msaziﬁﬁaﬁﬁﬂma’rzs, 50 3R 75 § 9§

of 25, 50 and 75 is - gAqe | farsy g — TR ER
(A) 43550 (B) 43650 () 43550 {9"“43550 e
(C) 43600 (D) 43500 (§) 43600 (D) 43500 B N
13- |f the difference betweeng-part and%part of a Bt sy wem @ % T 3R % AT &1 AR
number is 4, what is the number? 4 ® 1 dw@ @ 87 Cdxy . Ne
(A) 60 (B) 80 (A) 60 (880 ‘ﬁn;_' “\{ a
(C) 100 (D) 40 (C) 100 (D) 40 "
14. The distance of Rajeev’s college and his home 1; wofla @ wiol i Bx @l QT 80 fh §
is 80 km. One day he was late by 1 hour than U foT g8 piora oM @ fIg IHIN wHy 9
the normal time to leave for the college, so he 18 Je o ggfoy SO 30 A 4 sy
increased his speed by 4 km/hr and thus he /Hel gar & 3R gg amra Y R higy
reached to college at the normal time. What is gl | roflg @ yRafda (& qdl g3) Iy R
the changed (or increased) speed of Rajeey? 8? w‘r.x} >
(A} 30 km/br B)40km/hr gy 3 M) 30 fall ser @) a0 AL/ &2
(C) 20 km/hr (D) 28 km/hr ayo (©) 20 fil /eer > (D) 28 fOH /ey
s/ﬁ ;2\' - -)&
- p— ’g&/{.‘; _kv_\:.f"';‘e.'_.
130-B — Page 3 of 16 “uet "

1
BB

¥ -



. 15.
. m
15. The ratio of two numbers is 3:4 and their su
is 420. The greater of the two numbers is -
(A) 200 (B) 180
(C) 240 (D) 360
TG ‘ d a base to 16
16. The reaction between an acid and a ba
give salt and water Is - g
(A) Single Displacement reaction S
(B) Double Displacement reaction g
(C) Neutralisation reaction g
(D) Combination reaction (4P
17
17. A nautical mile is equal to -
(A) 2450 metres (B) 2000 metres g
(C) 1852 metres (D) 1672 metres gg
: , 4]
18. The cause of sweet taste in fruits is- Qw
0N
(A) Ribose (B) Maltose )
(]
(C) Lactose (D) Fructose -
19. The chief raw material used for manufacturing 19.
Rayon is - g .
(A) cellulose (B) Nylon &
()]
(C) Silicon (D) Radium and Argon g’g‘
20. \Which of the following is the smallest bone in gm
the human body? ' oy
F
(A) Vomer (B) Incus
c D
(C) mMalleus (D) Stapes g
21. Which is not correctly matched? C"’)21
(A) Ammeter — Electric current g—?
(B) Barometer — Air pressure (-Ca
(C) Pyrometer — Amount of rainfall %
(D) Anemometer — Wind speed Lo
2. In which of the following pairs are the 22,
Isoelectronic 1ons? X
Raai, o (B) Na',0?
G 24
©) Mg, Ar (D) k', Ne
130.B - - '
30-8 Page 4 ol 16

1 Gl T FUI 34 & IR ITDT T 4

3| QT Al o A 93 e E -
(A) 200 (B) 180
(&) 240 (D) 360

. T o S} U &R B drd AFfHAT S g

i ol ol € a8 B -

(A) Teper favermasi sifafsar
(B) fy—faxemus arfaifehar

() FarRiFExoT STfAfshar
D) WA Sffhar

o g Ao a)TE] EIdl § -
w(zz;so:ﬂa“ (B) 2000 Hie?
(C) 1852 Hiex (D) 1672 #iex

. el A feN & SR € — E"E
(A) RrgaTST (B) Aot
(C) sraerst D) waers

WA= & fAmter F g &F aren 45 e T
g —
8y i

(B) AT

(C) faferpr= (D) YTy 3R IS
- frfoRaa § § s 5F9 IRk @ oFE
BIdl &L &7

(A) A (8) s=ra

(©) #foraw ©f =i

© B T gt T 87

(A) THIeR — fdegd ur

(B) axrfiey — BINEAD)

(@ arREfrer - anl @1 =

(D) wfinnfier — arg @1 A7

Freifiifeag 8 O e g™ 3 STgaIgdagIAe
1 87
(A) Al |
(©) Mg, A

(B) Na',0%
(D) K°, Ne



23. Match the following columns —
Column-|
(a) Smoke
(b) Gel
(c) Emulsion
(d) Foam
Column-II
(i) Dispersion of gas in liquid
(ii) Dispersion of solid in solid
(iii) Dispersion of liquid in liquid
(iv) Dispersion of liquid in solid
(v) Dispersion of solid in gas
Code -
(A) (a)-(v), (b)-(ii), (c)-(i), (d)-(iii)
(B) (a)-(ii), (b)-(iv), (c)-(i), (d)-(v)
(C) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(D) (a)-(v), (b)-(iv), (c)-(iii), (d)-(i)

24. pMatch List-1 with List-1l and select the correct

answer using the code given below —

List-f List-11
(a) Acceleration (1) Joule
(b) Force (i) Newton-second
(c) Work done (ili) Newton
(d) Impulse (iv) Metre per second’
Code -

() (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(8) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(€) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(D) (a)-(iii), (b)-(iv), (c)-(i), (d)-ii)

5p plane glass slab is kept over colored letters,

the letter which appears least raised is —

(A) Red (B) Voilet

(C) Green (D) Blue

%. A plant which has green leaves, when placed in

red light will appear
(A) Green
(€) Black

(B) Violet
(D) Red

130.8 —

3. fop=1 gfam a1 gaterd 1fsqu

1302039344

2039344

g 2
o
e

1302039344 1302039344
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B8 i sl @ W g wadd T F

g
(a) g31T v
(b) Stet
(c) gHETH
(d) 1A
-1
(i) wa ® gRfera
(i) B H uRfera ora
(iii) %9 # uRféra g9
(iv) 81 ¥ uRféra =g
(v) g # uRfera e
az?: g
(A) (a)-(v), (b)-(ii), (c)-(i), (d)-(iii)
€8 (a)-(ii), (b)-(iv), (c)-(i), (d)-(v)
(@ (a)-(iv), (b)-(ii), (c)-(iiE), (d)-(i)
(BT (a)-(v), (b)-(iv), (c)-(iii), (d)-(i)

24 - B - 9 gafe Ff R AT

Ry T | &1 FERT FR FE IR AT —

- -1
(a) X7 (i) It
(b) et y (ii) geA—TH e
() famar /T &t (iii) =g
(d) 3T (iv) rex ufd @ TFs
a'z':(':’ —

(A) (a)-(ii), (b)-(iii), (c)-(iv). (d)-()
() (a)-(i), (b)-ii), (c)-(ii1). (d)-(iv)
¥ (@)-(iv), (b)(iii), (c)-(i). (d)-(ii)
®) (a)-(iii), (b)-(iv), (c)-(i). (d)-(i)

—y

T AT 8 1 deR Jay FH I ENT fAgrd

qdr 8 ag

(A) ol & qudl
(C) ex (D) AYon
iﬁf‘---"-h ren torga e utar € 4 ATE g9y i
T a8 Ry a
(A) & (B) dir+1t
Crmicn (D) AT



. y 1 . s b ] A
27. |f the position of an object in concave mirror is 27. afa sagd adm g fedy avq @ Reatd e

at infinity, then the image formed is URR, 1 Ao arer yfafard 2
(A) virtual, erect, enlarged 89 it A spafid
(B) real, inverted, equal to object (B) arcifasm, weer a¥g & a7y
(C) real, inverted, diminished (C) arwtfasd, eer, a¥g 71 91l
(D) virtual, erect, diminished (D) ey, e, aeq a Bl
28. Clove, the commonly used spice, is obtained 28. o, Wi AR UR ST fBar A aren
from the - waten 2, feaa ura fhar srer 27
(A) Root (B) Flower bud (A) GIg (B) BA Bl HAl
(C) Fruit (D) Stem (C) et (D) =
29. consider the following statements about 29. geRTeT, a1 (UV) IHTeT 3R THH -2 & T
visible light, UV light and X-rays - ¥ fy=faRad oAt w® faar &7 -
(1) The wavelength of visible light is more than (1) G2a FTT ) TRITQE, T~ & g7 =
that of X-rays. T e 2 |
(1) The energy of X-ray photons is higher than () TRI—X BIEH & FHol Zd1 (V) 7577
that of UV light photons. < weE Al g # o =l 2
(111) The energy of UV light photons is less than (1) ?{rﬁ (UV) IS BIeTT @PT FHaAT gYd AT
that of visible light photons. T W B gar § a9 2 2
Which of the statement(s) given above is/are TR Rt W FoMi ¥ ¥ T/ T =
correct? /00
(A) (1) and (11) (B) Only (1) *A) (1) 3R (1) (B) et (1)
(©) (1), (1) and (1) (D) (11) and (1) ©) (1), (3= gy (D) (3= (1)
30 Who invented the safety lamp? - 30 Jud Fu P R e Ry o
(A) Alfred Nobel (B) Maxwell = (A) 3rahs e (B) daa=
(©) Humphry Davy (D) Faraday © T <& 0 s
3. \:r:ere has the DRDO successfully test-fired 3% apier 2022, pROO A &F AN IR DT
elina, Anti-Tank Guided Missile i i :
i oo (Bl';’hcs)s;lil:r;m April 2022? (%Eim BT et TRer Far ey 2
(C) Pokhran (D) Gajner AN IR S
32. (&t (D) TSR

In which city was the National Co-operative

32. Q]}—,;ﬁ-é-] g N
" 3 HY - H INNIY TR
Spices Fair, 2022 organiasd> i HEBR] HAJrel AT 2022

fhw e H Ry

(A) Chittorgarh (B) Jaipur (A) Ridtera A

(C) Alwar (D) Dholpur (C) \5I\-"1~|\: ) (ﬁt Gtm{_\' E:':
33. Ghazi ¥han Barna was presented the Sangeet oy \._“_\ \ | : ,”\ N N I

Natak Akaderni Award by Vice President Shy My e 1 T W W ‘“”m N :-‘ f )

M. Venkaiah Naidu for his contribution in the T 2 KINRY PG #l. g aed]

fiefd of folk music, he is related to which SRR Sew s YRR e L

Instrument? TR b qrer @ a8

(A) Sarangi (B) Khartal () iy (B) Wggdrd

(©) Bhapang (D) sitar ) 3 F far

— = :

1308 -
A B
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34.

35.

In which district of Rajasthan is Garhmora, the
city of Raja Mordhwaj in which recently' th:-'-
Rajasthan government has issued a financial
for

sanction development  work  and
maintenance of historical sites?

(A) Karauli (B) Udaipur

(C) Ajmer (D) Bundi

Rajasthan's rank in the Fourth State Food
safety Index (SFSI) of the Food Safety and
standards Authority of India (FSSAI) released in
June 2022 is -

(A) Twelfth (B) Nineth
(C) Fourth (D) Tenth

36. ‘Thar Mahotsav 2022’ was organized in which
district of Rajasthan?

(A) Jaisalmer (B) Bikaner
(C) Jaipur (D) Barmer

37. Rajasthan Tourism Department organized 'Folk
Safar' in collaboration with which institute?
(A) IMF (B) ASEAN
(C) UNESCO (D) UNICEF

38. Which body of Rajasthan was conferred with
IBC Excellence Award, 2021 in April 20227
(A) Rajasthan Tourism Development

Corporation Ltd. E
(B) Rajasthan Housing Board =
(C) Rajasthan Medical services Corporation
(D) Rajasthan Urja Vikas Nigam Ltd.

3. Where has the foundation stone of Rajasthan’s
first Ayurvedic Medical Center, Health and
Wellness Center béen laid?

(A) Khimsar (B) Khamnor
(C) Kotra (D) Karanpur

0. who e inaugu(ated the first virtual court of
Rajasthan?

(A) Vasundhara Raje '(B) 5.3 Shinde
(C) Tikaram Jully (D) Ashok Gehlot

4. Longitudinal dunes aré found In which districts

of Rajasthan?

(A) Jaisalmer (B) Ganganagat

(©) churu (D) Bikaner
' 130-.B — l
o

‘age 7 ol

34, grgreeqrel @ fwar fora A Ll s
e 2, e 2ot eedne qeepre A #rea #1A
ofeifis i & fawra o Mo 2 7914
& foru fashe ehvgpfa w41 27
(A)-m (B) 377
(C) araiY (D) 47

35\ Gﬁ 2022 H AT AT 4T HYAT e GTAF
IRIROT (FSSAN) @ A oA T HE
qﬁav"ﬁﬁ{sr:snﬁf IIALITH 1 I #

(A) grexdi (B) =rar
(C) =iter (D) =&an

M EleHg 2022 @1 AT AR B HH
et & oz T’

(A) TTTR (B) fiFHTI
(C) FagR W

7. T qed T A fha wwRr @ FEA

—

{ A1

3 BIP qHY BT A AT

(A) amfrmw (B) anf¥ar
- (C) gATh! (D) qﬁm

38.

Wa%ﬁn—aﬁzﬁmm s A TRATAE
aars. 2021 @ YA 2022 H FHTA THAI
T

(A) TR 9deq faerd s TS

39.

40.

41

16

(C) wrorear fafdcar |ar 174

(D) TR Tl [T T AT
AGETE & Ugd gaiad [Adcd
Ue Id-9 ex &1 rerarE @E o«
fFar Tar &-

(A) flaua? 8 quAR
& F1ex (D)

AT A gerH gesS

GGG X! ‘

(A) qHIN 1 (B UHE UH re:
(C) 2T<pIuy el (0)

| {ddl dicf< %

gy S

W) A g 8

(C) & A 0



\'_

42. Match List - | with List— Il and select the correct

answer
List—| List-Il
(Wildlife Protected Area) (District)
(a) Jod beedepadhwala (1) Jhunjhunu
(b) Guda Viﬁgnoiyan (2) Nagaur
(c) Gogelav) (3) Jodhpur
(d) Beed 8 (4) Bikaner

(A) 3-1, b %3, d-4 (B) a-1,b-3,c-4,d2

(©) a4,b$22,d1 (D) ad b3, -1, d-2

43. Which one of the following pairs is not correct

regarding the folk dance of Rajasthan and its
area of praefjce?

(A) Gindar@lce - Shekhawati

(B) Dhol D@e -~ Jalore

(C) Dandiy§¥ance - Marwar

(D) BamarsgsDance - Bikaner

The Rajastgni folk song ‘Pavana’ is sung by
females -

(A) while v@ing for marriage

(B) on arrivalof new son-in-law

(C) on birthpf son

(D) while v@(ing in the fields in chaitra month
Arrange t

44

t%following victories of Alauddin
Khilji chrondfdgically-

(1) Siwana
(2) Jalore

(3) Chittor g

(4) Ranthor@mre

muz3g (B) 4,213

(€) a3 1N (D) 2,3,4,1
)

Nandsa Yugbscription is found at -

(A) Bhilwara (B) Udaipur

(D) Kota

46

(C) Banswara

47 What was the per capita income of Rajasthan

In 2020-21 at constant (2011-12) price?
(A) 72387 (B) 72297
(C) 71297 (D) 70297

130-8 -

2. @ gh-na are gafaa &9 sie a8

IR BT ggq HY -

- A
(E=gsita w=féa &) (fre)
(a) STTedte Tearer. iy (1) 230
(b) TS fawegAT () wﬁ?
(c) TRYeTTa \(3) SR
(d)drs -~ | (4) drarR

(A) a-1,b-2,c-3,d-4 (B)a-1,b3 c4d2

[9) a4,b-3,¢2,d1 (D) a4 b3 c1d?2

43 IR B AD T U9 IED YA aF 7
Wiy ¥ frEfRed § @ @ qm wh
&7
(A) fige e — @@

(B) g1l I — WTeiR
(C) sif$ar Jou — ARaEe
O FRRET 9 — fidR

WM, ISR Al e Wi gr T

ST § —
(A) ¥y @1 wrefiem @ea gU
BYTT TR & N W
C) ¢ & T W
(D) = = ® Wit § Bl Py wy
B gl Raeohl @ Prifhg o =

/wa»‘m?mre IR HIRAY —
(1) far et
(2) SR -~V .
(3) Pt - 130? o
(4) o v
(A)1,2,3,4 8)4,21,3
© 4312 (D) 2,341
46. Tiear u aifverg i @
WY rerarer ¥ (B) gamR A

(C) qRarer o (D) ®Yer
\?7 Rere @y (2011-12) R Twiepe @Y uld
@fd 3y 202021 § fra) ofy?
(A) 72387 (B) 72297
(C) 71297 (D) 70297



48. Who was the founder ruler of Kota state?

49.

50.

51.

52.

53.

54,

55.

130.8 —

(A) Kishor Singh (B) Madho Singh

(C) Jagat Singh (D) Ram Singh

which of the following (Fort — Popular Name)
is not correctly matched?

(A) Taragarh fort (Ajmer) —Garh Bithali

(B) Mehrangarh fort (Jodhpur) — Mayurdhwaj

Garh
(C) Nahargarh fort (Jaipur) — Sudershangarh
(D) Bhatner fort (Hanumangarh) —
Koshvardhan

Which one of the following pair (Fair-place) is
not matched correctly?
(A) Badshah fair — Beawar : E
(B) Mata Kundalini fair — Rashmi -
(C) parshuram Mahadev fair — Revasa
(D) Laldas ji fair — Dhauli Dub

How many military cantonments were there in
Rajasthan at the time of Revolt of 1857?

(A) 6 (B) 4

(€))7 (D) 5

In which ruler’s reign did the art of ‘Meenakari’
in Jaipur come?
(A) man Singh—! (B) sawai Jai Singh—I
(C) Bharmal (D) sawaiJai Singh-II
Who is famous as ‘Meera of Vagad'?
(A) Gavari bai (B) Kali bai
(C) Karma bai (D) Pushpa bai

Which of the following dialects is not

considered a dialect of Rajasthan?
(A) Bundeli (B) Mewati

(C) Ahirwati (D) Malvi
Read the following statements in relation to

1857 rebellion in Kota.
(1) The rebellion was lead by Jaidayal and

Mehrab Khan

(2) Dr. Sadler and Major Burton were killed by
rebel state Army of Kota

Choose the correct code

(B) Only /

(A) Both are correct
(D) Only !

(C) Both are wrong

A8 e vl al e TS B AT
(A faone fre @REREIEEEED
(C) uiarer fiw (D) 213y frre
&/i'-‘ihlf-‘-ﬂf-l-[ oA e (4 Arfon
gafera # 27
(A) arrme g ()

(B) BERTTE gl (ST
(CLATETE it (AaqR) — 77T

oy o () - T

50,, freferRad #§ | PIeAT g (FeA— =T e
& -

A1
F

1z fazen

AR 717

9344

0

~
(A) gTEeTE Hell — &A1 =2
B) HTdl ] AT — 1T
(D) TR St BT HeAT —~ =Tl 73 -
&185725%%%@%%&%@%
wrafar &ff? >
B (o
e (B) 4 3.
() 7 (D) s N
ATl H STl -—
(EEfE— (B) warg FurHE-
(C) ¥y¥HA (D) IS TUTHE- g
53. ‘aTs @ ART @ Y § HTH UTHE T <
s ' N
QuTEEED $ © o =
(C) Hmr 413 (D) g 473 =~
4, fr=fefan & 5 @ty aret R B *—*:,:-:
(C) 3FTgrd) (D) TT=A
5. U1 1857 H au RrEl TS - o :ﬁ
MEtEad et 1 gf2o :JB
(L34 I[A8® &1 qga gagurs A n:"":
b e :::J
W PIC DY [AETEY Y1atg \:;ﬁ)
T Wi Jc' hl :—-
el T\ Lk
O e 8)
(€) 9 aag (D) ¥ 1
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%6 Wakal, Meshwa and Hathmati are tributaries of 5‘5/ B, Nea) 1wl Ry wd B Hergm

which river? Afei &
(A) Sabarmati (B) Som 1A) g (B) e
(C) Western Banas (D) jakham (C) ufdesy ger (D) Sregy

77 Legislature of Rajasthan State consists of - f}/ NSRRI 150 & fawriiger 8 snfas £ -
(A) Legislative Assembly only (A) waat faer o
(B) Legislative Assembly and Legislati\(e (B) Ry S o - v ‘

Council , B’E
(©) Governor and Legislative Assembly © e sk fRurs o
(D) Governor, Legislative  Assembly and (D) TTer, Far < e R afe
Legislative Council

8- In which of the following districts, tropical dry Ea/ 1 & 9 fber forer & AP Iwihfeain
deciduous forests are not found? TOIOT T 9 uR oy 2
(A) Sirohi (B) Dholpur JA) RIS (B) siieqy
(€) Alwar (D) Bharatpur (©) 3reax (D)

9. Which of the following is not related to the ig, frafoRas % ¥ @i RS A6 Fef v
development of Rajasthan folk art and culture? R & e ¥ Gy TE §?
(A) Ramlal Mathur ~ (B) Shankar Deo - (A e AR B) ¥ix <7 T

- i © e wvr (D) e e
(C) Devilal Samar (D) Komal Kothari
" What is the new name of Kolayat Lift Canal? 8 B fge T @ T T Ty 27
(A) Guru Jambheshwar Lift Canal (A) TS SRR fomge TEY
(4 (B) Dr. Karni Singh Lift Canal

B 31wl Riz e Tav
([ T W e—
(D)Wammmai%mm

O IS wEaReR I Y afam @

(C) veer Tejaji Lift Canal
(D) Pannalal Barupal Lift Canal

When did Rajasthan Human Rights Commission
came into existence?

SI1E )
\A) 18" January, 1999 (B) pgth January, 1995 @Y 18 598, 1999 (B) 26 TTER) 1995
(€) 10" December, (D) yne October, 1990 (C) 10 ey, 1998 (D) 2 IR, 1990
1998
% Who is the author of the book ‘Buddhi vilas'? 62. Yei—Rem wor 3 qAGE P &
(A) Hemchandra Suri  (B) Somendra WV (A) g 9 (B) ¥
(C) Rajshekhar (D) Bakhatram Sah (C) IR (D) SETRH yig
N which year Mayo College (Educationg| 63 3o Rerd ) a1l (R e &
"netitute) was established in Ajmer? 9y ay gl
(A) 1883 AD (B) 1869 AD WA 1883 ¢ (B) 1860 ¢
() 1870 AD (D) 1875 AD (€) 1879 ¢ (D) 1875 ¢
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64.

Which of the following statement is incorrect -

about the Chambal Basin?

(A) Vindhyan scarplands are not associated
with Chambal basin.

(B) Chambal basin has vast ravines.

(C) In the south of Chambal basin, there are
low hills which are called ‘Dang’.

(D) Chambal originates from Janapav hills in
Mhow tehsil near Indore in Madhya

Pradesh.

y‘

T W e e 10 5 MRS T A R IS T A R R
5

W A ITord ©

A
yﬂﬁ?l

(B) ziget afe1 7 fasne =ifern 2|
(C) gac a1 @ «ferr 4 AT
Rre ‘ST el el 2 |
(P) F9d @1 IGH AL He?
Hg dedtel # ST #1 gzIfZar 3

[ H 3al¥ &

(65 Freoraer % 1 st 2 4 < ST 1 2
A e § |erIT Uard @17

iz i gfET dad afeE | watae
qeifsar &

OTH

=TT
F

(A) HooflATeT Sl (B) IHed Tl

{0) 'S Sfl (D) HeTShr FrTfeTa
Wﬁaﬁﬁ@mﬁmm g 7 &

gy wWfiey, |ey iR e e &7 5

GHTT 27

(BY SRR (B) 7 wE TS

(C) ¥ fdhenr =™ (D) gHefeTal AT0T

—r  TT =

thl +
o

RIGIRT /15 frafe= T
dfdurE @ fbw arede @ of<Td &

(A) 3BT 253 (B) 3[BT 263
(C) 3igeeq 273 (DY DT 243

69/ Il @ W W Py

U H '1?‘7 27

(A) g8 Ig9494 1Y

BTl JRIAT ¢ Sraey A =
(B) we eurqire o (o) o
(C) Ae Uh a1y wwar 2

BTN P gwrgr sigs dal 7 1h AR

a fa—\rﬂﬂ &

65. Which one of the following (thermal power
project — district) is not matched correctly?
(A) Kawai — Baran
(B) Kali Sindh — Jhalawar E '
(C) Giral — Bikaner -
(D) Kapurdi and Jalipa — Barmer

66. Which of the following folk deities helped Rao
Jodha in conquering Mandore?
(A) Mallinath ji (B) Ramdev ji
(C) Hadbu ji (D) Mehaji Mangalia

67. Who among the following has held the post of
Protem Speaker, Speaker and Deputy Speaker
of Rajasthan Legislative Assembly?
(A) Dr. C. P. Joshi (B) poonam Chand

Vishnoi
(C) Ram Kishore Vyas (D) Samarath Lal
Meena

€8. Under which Article of the Indian Constitution,
the Rajasthan State Election Commission has
been constituted?

(A) Article 253 (B) Article 263

(€) Article 273 (D) Article 243

o Which of the following statement is not true
with respect to Kalibanga?

() Here the remains of Harappan and pre —
Harappan civilization have been found
from the excavation work

(B) It s in Hanumangarh district

(C) It is an urban civilization

(D) Civilization of Kalibanga wd> sPread on the
banks of Ahad river

130-B - —— _
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70.

Raniji Ki Baori in Bundi was built by —

70 g8 ¥ T o ) A R g

A o S
(A) Hadi Rani (B) Rani Nathavati (A) g I AB) I ArRITad
(C) Rani Padmini (D) Rani Karnavati (©) T+ gfRr (D) I Horad)
71. The Battle of Harmada (1557 AD) was fought - *1'\/ gxArel g€ (1557 3) ST AT oy —
(A) Between Maharana Sanga and Mughal g (A) HERTUT | Td A HHE d1dR & wyy
Emperor Babur ; .
(B) Betr\:.’ueen Maharana Udai Singh and § (B) #ERTVN ISURAE VI 994N & My
Banveer . i .
(C) Between Sawai Jai Singh and Marathas 8 W wrafie vd wRIST & wea
(D) Between Maharana Udai Singh and Haiji A (D) WERTT SARiE Td gl @l & W
Khan
72. Which ruler is called the ‘Hindupat’ in the 33} o & i #§ fegud 59 aww
history of Rajasthan? ™ el AT 8° |
(A) Maharana Rajsingh (B) Maharana Sanga % (A) HERIOTI ?ﬁfﬁﬁlﬁ (B) ®ERTOT |
(C) Maharaja Raisingh (D) Maharana Kumbha g (C) HeRTSll NaRiE (O) HERIVT BRI
73. The height of which of the following Aravalli oA frefafad § | 5w sRmEcd W91 @
peak is less than 1000 meters? Q 1000 #eX A 4 27
(A) Raghunathgarh  (B) Naag Pahar (A) REATATG \B) AT Ut
(C) Guru Shikar (D) Kumbhalgarh 2 (C) v Rrax (D) H¥erTe
74. |n which district of Rajasthan is Ojhiyana %MT@W QRIRefel TSR $Wﬁ1ﬁ"lﬁﬂﬁ
archaeological site located? o
(A) Hanumangarh (B) udaipur g (A) BTG (B) ITAR
(C) Tonk (D) Bhilwara g (C) i BY HierdreT
75. ‘Marwar Lok Parishad’ was established in the C‘EZ{}, HRATS el TRYg BT AT Fd g
K)ar1941 (B) 1935 ® (A) 1941 ¥ (B) 1935 #
(C) 1938 (D) 1932 3:3 (C) 1938 (D) 1932 ﬂ
76. On which part of female body is Timaniya 6/ formiforar amqmor R R @ foa A
ornament worn? ) UBAd] AE‘s »
(A) Neck (B) Ears g WY e (B) &1 -
(C) Ankle (D) Hand ap (C) T&T (D) B e
77. Kinsaria (Nagaur) is famous for the temple of ‘—\\Z/ frvrafar (@riR) f&d A @ A
which Lokdevi? gﬁ'g Y
(A) Kodiya Devi (B) Kewai Mata (A) Pfgar 24 A8) darg =l
(C) chheenk Mata (D) Jilani Mata %/ (©) S5 HraT (D) frerreil A
78. The ‘Veer Bharat Sabha’ was founded . ﬂﬁET ¥ R 9Rd W Dl Il
R in Kota o1 ofy | - ot
(A) pyare Ram (B) Kesari Singh (A) IR 3m JB) A >
Barhath (€) 7 (D) W @-‘:ﬂ-\:m G
(C) savarkar (D) Sadhy Sitaram Das _
1308 - =
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. sangeet Raj, Sangeet Mimansa ang Suda

prabandh was written by -

(A) Kanha Vyas (B) Rana Sanga

(€) Maharana Kumbha (D) Maharana Mokal
g0. chief Secretary of Rajasthan State is selected
by -
(A) Chief Justice of High Court
(B) Speaker of the Legislative Assembly
(C) Chief Minister
(D) Cabinet
The only goddess of Rajasthan whose broken
idol is worshipped -
(A) Sheetala Mata

(C) Chamunda Mata

81.

(B) Shila Mata
(D) Nagnechi Mata

82. Which of the fdllowing oilseed crop is not

cultivated in Rajasthan during the Kharif
season?
(A) Soybean (B) Mustard
(C) Sesame (D) Groundnut
83. ‘Mukam’ is famous for -
(A) Kabirpanthis (B) Bishnois
(C) Ramsnehis (D) Jasnathis
84 t Calender, on

According to the Vikram Samva
which day the Sheetala Ashtami is ce
(A) Ashwin Krishna Ashtami

(B) Chaitra Shukla Ashtam!

(C) Chaitra Krishna Ashtam!

(D) Falgun Shukla Ashtami

O wfa wor wfra A g qg gdad &
TAATRIR 2
(A) dr-E1 21 (B) 211 AT
) BRIV BFI (D) H#T2[01 ek
80. o @ w1 Afad &1 au- fhuar e 2
Y4
(A) Sod RTAT & HI AT 5171
(B) faerm= |1 ofede] g7l
< (& A 5T
g (D) HE3FUSA GIRT
N p G
&y BT @ vpHE <d @ @fvsd gT @
% gl B ATl E -
(o’ @Y e (B) f3rar At
£ (C) FrqUST HIeTl (D) STTOTET AT

& Frefofaa # @ @A fOoET @ e
ORI § @O% B A H S Ag A

q-
o \uf’
@ W EEEE By Rt
8 ©fw (D) #ropedt
& g o s ¥ -
() wérdRri @ forg @ ReEd © B
"q_ (©) xmEfRal @ forg (D) s @ T
» O e 7918 T &7
8 (A) 3feqe HoT ]
yﬁawm
(C) T= FT e

(D) BT Y[del ]
85, AR & e 99 & qeims 2

%. The founder of the Chauhan dynasty of Ja|0f€3
e lap) (A) AT e (B) dprgsae
(A) Vatsaraja Chauhan (B) Kanhf\dad‘?\’a o
uhan o) o
cne & © diwea de (ARSI
(€) Viramadeva (D) Kirtipal Chauhan -
Chauhan (- \/ \ \ ‘
’ A 86/ TR W fiyr gfen W
> The period of south-west monsoon N -2 3 & IBES
Rajasthan is - A R \
X q¥ g \),t\, 3) 1
(A) September to (B) May to August NS I GRS (E
December (©) i 4 Rycqae” (D) o ©
©) June to September (D) June to November
e
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87.

88.

89,

90.

91.

92,

93.

94,

1308 =

As per 2011 census, which of the following
district pairs did show the density below 100 in
Rajasthan?

(A) Bikaner, Ganganagar, Barmer

(B) Barmer, Pali, Bikaner

(C) Jaisalmer, Churu, Bikaner

(D) Jaisalmer, Bikaner, Barmer

Which among the following (Palace-Place)
pairs is not correctly matched?

(A) Abheda Mahal — Alwar

(B) Juna Mahal — Dungarpur

(C) Abli Meeni ka Mahal — Kota

(D) Pushpak Mahal — Sawai Madhopur

Which of the following is not one of the ‘Panch
Peers’ of Marwar? '

(A) Gogaji (B) Ramdevji

(C) Hadbuiji (D) Tejaji

Which pair is not correctly matched with

respect to the freedom fighter of Rajasthan and
his place of work (State)?
(A) Gopilal Yadav — Alwar
(B) Balmukund Bissa — Jodhpur
(C) Hiralal Shastri — Jaipur
(D) Raghuvar Dayal Goyal — Bikaner
Which is the smallest agro climatic zone of
Rajasthan? ' '
(A) Humid southern plain
(B) Semi-arid eastern plain
(C) Irrigated north western plain
(D) Flood prone éastern plain
Magarmandi Mata Temple is situated at -
(A) Nimaj (B) Auwa
(C) Kiradu (D) Goth Manglod
Manjira and Chautara are played with Which of
the following dance form?
(A) Terah Tali (B) Ghoomar
(C) Gair (D) Bhawai
Bhoji lambardar was r®lated to -
) Begy peasant Movernent
(B) ijoliya Peasant Moverent
(D) Bharatpur peasant Moverment

2011 1 SIEUAT & AR, IR |
fFreiferftga & @ fabwr et @ S1¢ A1 a+e 100
A & fewrmar?
(A) diHTR, T, ATGHY
(B) argiR, urell, AT
(C) SRFeTR, &, AHTR
) SRR, R, areER |
%yﬁfﬁfaf@ﬂ ¥ ¥ B 9 (AEA—T) o™
T B2 ,
(A) ST HESl — AR
(B) ST WEWl — YIRYR
(C) 3raeit #ivfy &1 wEd — BIeT
(D) gquI% Wedl — WaTs AR

7

- 8% annfaRem # | B ARAS @& U ORT A =

Uep el 87
(A) TS (B) TmeT o
(C) &g off O A i .

AL

o

(B) grerqgy< favan — SigR
(OF YR garet TR — TR

Yy ISR BT WY BeT FfY oAy T FAE
-4
(B) Sefyfep gdf #er
(©) Rifga sor y¥ed <=

92/ TR Hrar HfAR B ox v 2

— (B) 3119d]

3B, Frafofaa § @ by g1 e @ w0 W
U9 gy dorl ofidl 87
(€) ik Y v
MY S @l dde A1 =
(B) fywitfaryr fpur S&TerT 4
(C) Hreqie fhwr JneTer |

(©) ERrrarer Tt — SR

(D) 37g yqv ydf e

(©) fFzre (D) M HITAR
MREREEE» (O

(A) Qf faprre araler S

WA gy R S ¥
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- 95.

96.

97.

98.

99.

100.

which of the following statement is not true

with respect to Saint Dadu?

(A) His teachings are collected in “Anbhai
vani”.

(B) He is known as “Kabir of Rajasthan”.

(C) He was a poet sainf from Gujarat.

(D) Satsang places 6f Dadu Panthi sect are
called “Alakh Dariba”. :

The Princely State that was merged in the

United Rajasthan on March 25, 1948 is -

(A) Bharatpur (B) Alwar

(C) Sirohi (D) pratapgarh

Who is called the Deity of ‘Kala and Bala’?

(A) Kallaji (B) Tejaji E
(C) Pabuji (D) Biggaji 3

In which area was the identity of Allah — Jilai —

Bai?

{A) Manganiyar-folk
song

(C) Maand singing

Which colors are usually used

(B) Langa singing

(D) Havelli singing
in Ajrakh

print?
(A) Pink and Browrn.

(C) Black and White (D) Blue and Red
Which fort amongst the following comes in the
category of ‘water fort’?
(A) Jaigarh fort

(C) Achalgarh fort

(B) Green and White

(B) Taragarh fort
(D) Bhainsrorgarh fort

 d

)

85 wa arg @ wded a fefafaa @ g @
por- Gl A8l 27

(A) g W oAl A AUz 7

A F7 I

(B) 8 "RIARITA BT HdI¥L Ml P

@ 2 ORI ® Qb Hfd AT 2
(D) &Tg. WU B HoHT ¥ HAE

FETd |

96. 25 wrd, 1948 I WD TAT T
-ard Reamaa ot —

(A) FRAGR (B) 7o
(C)i'?tr\'\‘&"f (@ FaTgTE
WWWWWE’WWW AT =
(A) woal Sf (B) ST
(C) urq, il (D) RS

/W RaE — 918 @ TETE fFE F

(A) HnTﬁ?fm'\’ e e (B) & TS
- 40) wis e (D) &3 T
99/ arovg file d AR W A T T
4 farar Srar &7
(A) TETdl 3R RT (B) =7 0T
(C) T 3R Tve (PSSR
1Wﬁm%ﬁ§ﬁ § Q g gr-9a P
H 3T 87
(A) STaTTe I
(C) 3raerte i

(B) I8 I
(B FENETI

LY





